
|a-x| < e
1) x>a

x-a<e
x<e+a
2) x<=a

a-x<=e
x>=a-e

|a-x|=dist(a,x)

dist(a,x)<e

1 alternative 

if a>0 and b>0 => a+b>0
|a+b| = a + b      |
|a| + |b| = a + b  |=> |a+b| = |a| + |b|
if a<0 and b<0 => a+b<0
|a+b| = -a - b   |
|a| + |b|= -a - b|=> |a+b| = |a| + |b|

a>0 and b<0 or a<0 and b>0
|a+b| < |a| + |b|
так как вычитание произойдет в |a+b|, но не в |a| + |b|

1 alternative 2 alternative 

2 alternative 

|a+b| <= |a| + |b| 
(|a+b|)^2 <= (|a|+|b|)^2
a^2+2ab+b^2 <= |a|^2+2|ab|+|b|^2
a^2+2ab+b^2 <= a^2+2|ab|+b^2
ab <= |ab|

{|a-x| < A
{|b-x| < B

a-A<x<a+A
b-B<x<b+B

task01

task02

пример min(a,b)<max(A,B)

if a-A > b+B  0 sol
if b-B > a+A  0 sol

1 alt
a-A < b+B && b-B < a+A
2 alt
max(a-A,b-B)<min(a+A,b+B)

task03

task04 c-j=max(a-A,b-B)
c+j=min(a+A,b+B)

c=max(a-A,b-B)+j
max(a-A,b-B)+2j=min(a+A,b+B)

c=max(a-A,b-B)+j
j=[min(a+A,b+B)-max(a-A,b-B)]/2

c=[min(a+A,b+B)+max(a-A,b-B)]/2
j=[min(a+A,b+B)-max(a-A,b-B)]/2


